Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.

Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal http://www.mathbalkanica.info

or contact:

Mathematica Balkanica - Editorial Office; Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria Phone: +359-2-979-6311, Fax: +359-2-870-7273, E-mail: balmat@bas.bg



New Series Vol. 3, 1989, Fasc. 1

On Nanson's Inequality and on Some Inequalities Related to It

Dušan D. Adamović*, Josip E. Pečarić**

Presented by D. Kurepa

1. The following result is due to E.J. Nanson: "If a real sequence $a = (a_1, a_2, ..., a_{2n+1})$ is convex, then

(1)
$$\frac{a_1 + a_3 + \ldots + a_{2n+1}}{n+1} \ge \frac{a_2 + a_4 + \ldots + a_{2n}}{n},$$

with equality if and only if a is an arithmetic progression.

One can find this result in [1, p. 205], where its proof is also given. This proof is correct, but it appeared to the authors rather artificially constructed. That incited them to try to find a different proof, which would be, without regard to the length, essentially more natural. The form of the proof of Nanson's inequality that they — tending to this purpose — obtained, conducted them to a more general result. Besides that general proposition and its corollaries this paper contains several other results, related in a different way to Nanson's inequality.

Before passing to our main results, we shall give some auxiliarly assertions.

Lema 1. If a function f(x) is convex (strictly convex) on the intervals [a, b] and [b, c] (a < b < c), and $f'(b) \le f'_{+}(b)$, then this function is also convex (strictly convex) on the interval [a, c].

Proof. By hypothesis, we have, with $a \le y_1 < b < y_2 \le c$,

$$\frac{f(b)-f(y_1)}{b-y_1} \le f'_{-}(b) \le f'_{+}(b) \le \frac{f(y_2)-f(b)}{y_2-b}.$$

Hence we get for $a \le x_1 < x_2 < b < x_3 \le c$

$$\frac{f(x_2) - f(x_1)}{x_2 - x_1} \le \frac{f(b) - f(x_2)}{b - x_2} \le \frac{f(x_3) - f(b)}{x_3 - b}$$

and further, using the fact that the second inequality implies

$$\frac{f(b)-f(x_2)}{b-x_2} \le \frac{f(x_3)-f(x_2)}{x_3-x_2},$$

we obtain the inequality

(2)
$$\frac{f(x_2) - f(x_1)}{x_2 - x_1} \le \frac{f(x_3) - f(x_2)}{x_3 - x_2}.$$

If $a \le x_1 < b < x_2 < x_3 \le c$, we have

$$\frac{f(x_3) - f(x_2)}{x_3 - x_2} \ge \frac{f(x_2) - f(b)}{x_2 - b} \ge \frac{f(b) - f(x_1)}{b - x_1}$$

and further, since the second inequality implies

$$\frac{f(x_2) - f(b)}{x_2 - b} \ge \frac{f(x_2) - f(x_1)}{x_2 - x_1}$$

we conclude that (2) holds in this case, too. Therefore (2) is valid for all x_1 , x_2 , $x_3 \in [a, c]$ such that $x_1 < x_2 < x_3$, which means that the function f is convex (strictly convex) on [a, c].

Lemma 2. If a sequence $a_n(n \in \mathbb{N})$ is convex, then the function f whose graph is the polygonal line with corner points $(n, a_n)(n \in \mathbb{N})$ is also convex on $[1, \infty)$. Therefore, a convex sequence $a_n(n \in \mathbb{N})$ has the property

$$a_q \le \frac{(r-q)a_p + (q-r)a_r}{r-p} \quad (1 \le p < q < r)$$

with strict inequality for fixed p, q and r if and only if the sequence (a_n) is not arithmetic for $p \le n \le r$.

Similar assertions concerning finite sequence are valid.

Proof. The supposition implies the convexity of the function f on each interval [k, k+1] ($k \in \mathbb{N}$) and its property $f'_{-}(k) \leq f'_{+}(k)$ ($k \in \mathbb{N}$, $k \geq 2$). Hence, using Lemma 1 and applying mathematical induction, one can easily prove the convexity of f on each interval [1, k] ($k \in \mathbb{N}$, $k \geq 2$), and that obviously implies its convexity on $[1, +\infty)$.

It follows from the established, that

$$a_q = f(q) \le \frac{(r-q)f(p) + (q-r)f(r)}{r-p} = \frac{(r-q)a_p + (q-r)a_r}{r-p} \quad (1 \le p < q < r).$$

According to a known property of convex function, this inequality is equality if and only if f is linear on [p, r], that is if and only if (a_n) is arithmetic for $p \le n \le r$.

It is clear that all we previously established is also valid, in a corresponding form, in the case of a finite sequence.

Lemma 3. If a sequence (a_n) is convex, then the sequences (a_{2n-1}) , (a_{2n}) , and generally all sequences (a_{mn-p}) with fixed $m \in \mathbb{N}$ and $p \in \{0, ..., m-1\}$, are convex.

Lemma 4. Let A and B be real, and α and β – positive numbers. Then any of the inequalities

$$\frac{A}{\alpha} \leq \frac{B}{\beta}, \quad \frac{A}{\alpha} \leq \frac{A+B}{\alpha+\beta}, \quad \frac{A+B}{\alpha+\beta} \leq \frac{B}{\beta}$$

implies remaining two of them, i.e. the inequality

$$\frac{A}{\alpha} \leq \frac{A+B}{\alpha+\beta} \leq \frac{B}{\beta} .$$

Lemma 3 follows immediately from Lemma 2. The assertion of Lemma 4 is evident and well-known.

Let us remark that we have, according to Lemma 4, the following corollary of Nanson's inequality

$$\frac{\sum_{k=0}^{n} a_{2k+1}}{n+1} \ge \frac{\sum_{k=1}^{2n+1} a_k}{2n+1} \ge \frac{\sum_{k=1}^{n} a_{2k}}{n}$$

holding for convex sequence (a_1, \ldots, a_{2n+1}) (a similar result is given in [5, pp. 59-60]).

2. We pass to a result of a general kind.

Theorem 1. Let $a = (a_1, ..., a_n)$ be a convex sequence and let $I_n = \{1, ..., n\}$. Let further I, J and M be nonempty subsets of I_n , the sets I and J being non-overlapping. Let these three sets have cardinal numbers α , β and γ , respectively, and let

$$u = \sum_{i \in I} i$$
, $v = \sum_{i \in J} i$, $w = \sum_{i \in M} i$.

Then, under the conditions

(4)
$$\frac{u}{\alpha} < \frac{v}{\beta} \land (\forall m \in M) \frac{u}{\alpha} \le m \le \frac{v}{\beta}.$$

the inequality

(5)
$$\sum_{i \in M} a_i \leq \frac{\gamma v - \beta w}{\alpha v - \beta u} \sum_{i \in I} a_i + \frac{\alpha w - \gamma u}{\alpha v - \beta u} \sum_{i \in J} a_i$$

holds. If besides (4) the condition

$$\frac{w}{\gamma} = \frac{u+v}{\alpha+\beta}$$

is satisfied, then

(7)
$$\frac{\sum_{i \in M} a_i}{\gamma} \leq \frac{\sum_{i \in I \cup J} a_i}{\alpha + \beta}$$

holds. If, in addition, M and $I \cup J$ are non-overlapping sets, the inequality

(7')
$$\frac{\sum a_i}{\gamma} \frac{\sum a_i}{\alpha + \beta + \gamma} \frac{\sum a_i}{\alpha + \beta}$$

is also true.

Each of the inequalities (5), (7) and (7') becomes an equality if and only if a is an arithmetic progression on the set

$$S = \{ \min(I \cup J), \min(I \cup J) + 1, \dots, \max(I \cup J) \}.$$

Without the supposition

$$(4') \qquad (\forall m \in M) \frac{u}{\alpha} \leq m \leq \frac{v}{\beta},$$

the conditions $\frac{u}{\alpha} < \frac{v}{\beta}$ and (6) do not imply the inequality (7).

Proof. For $m \in M$ arbitrarily chosen, we can find nonnegative numbers P and Q such that P+Q>0 and

$$m=\frac{Pu+Qv}{P\alpha+Q\beta},$$

i.e.

$$(\alpha m - u)P = (v - \beta m)Q$$
.

This is satisfied for

$$P = v - \beta m$$
, $Q = am - u$,

these numbers P and Q being, according to (4), nonnegaive and with positive sum. Using Lemma 2 and Jensen's inequality applied to the function f mentioned in that Lemma, we obtain

$$\begin{split} a_{m} = & f(m) \leq \frac{P\alpha f(\frac{u}{\alpha}) + Q\beta f(\frac{v}{\beta})}{P\alpha + Q\beta} = \frac{P\alpha f(\frac{1}{\alpha} \sum_{i \in I} i) + Q\beta f(\frac{1}{\beta} \sum_{i \in J} i)}{P\alpha + Q\beta} \\ \leq & \frac{P\sum f(i) + Q\sum f(i)}{P\alpha + Q\beta}, \end{split}$$

i.e.

On Nanson's Inequality...

(8)
$$a_{m} \leq \frac{(v - \beta m)A + (\alpha m - u)B}{\alpha v - \beta u},$$

where $A = \sum_{i \in I} a_i$, $B = \sum_{i \in J} a_i$. It follows further from (8)

$$\sum_{m \in I} a_m \leq \frac{1}{\alpha v - \beta u} \left\{ A \sum_{m \in M} (v - \beta m) + B \sum_{m \in M} (\alpha m - u) \right\}$$
$$= \frac{\gamma v - \beta w}{\alpha v - \beta u} A + \frac{\alpha w - \gamma u}{\alpha v - \beta u} B,$$

that is the inequality (5).

If the condition (6) is satisfied, then we have

$$\frac{\gamma v - \beta w}{\alpha v - \beta u} = \frac{\alpha w - \gamma u}{\alpha v - \beta u} = \frac{\gamma}{\alpha + \beta},$$

so that (5) becomes, I and J being non-overlapping sets,

$$\frac{\sum a_i}{\gamma} \leq \frac{\sum a_i}{\alpha + \beta},$$

i.e. (7). If, in addition, $M \cap (I \cup J) = \emptyset$, this inequality implies (7'), according to Lemma 4.

Further, one can easily see that if the sequence a is not an arithmetic progression (linear sequence) on the set S, then any of the inequalities (8) is strict, and so the inequality (7) is strict, too.

Finally, the last assertion is confirmed by the example of the sequence $a_n = n^2$ (n = 1, ..., 8), with $I = \{1, 3, 4\}$, $J = \{5, 6, 8\}$, $M = \{2, 7\}$. In this case the condition (6) is satisfied, but

$$\frac{u}{\alpha} = \frac{8}{3} > 2 \in M,$$

and so (4') do not hold. Since

$$\frac{\sum_{i \in M} a_i}{\gamma} = \frac{2^2 + 7^2}{2} = \frac{53}{2}, \quad \frac{\sum_{i \in I \cup J} a_i}{\alpha + \beta} = \frac{151}{6} < \frac{159}{2.3} = \frac{53}{2},$$

the inequality (7) is not satisfied.

This completes the proof of Theorem 1.

Corollary 1. Let $a=(a_1,...,a_n)$ be a convex sequence. Then for $m \in \mathbb{N}$ and $2m \le n-1$ the inequalities

$$\frac{1}{n-2m} \sum_{i=m+1}^{n-m} a_i \leq \frac{1}{n} \sum_{i=1}^{n} a_i \leq \frac{1}{2m} \left(\sum_{i=1}^{m} a_i + \sum_{i=n-m+1}^{n} a_i \right)$$

hold. Both inequalities become equalities if and only if a is an arithmetic progression.

3. Using Theorem 1, we shall prove the following generalization of Nanson's inequality.

Theorem 2. Let the sequence $a = (a_1, a_2, ..., a_{2n+1})$ be convex. Then for $m \in \mathbb{N}$ and $2m \le n+1$ the following inequality

(9)
$$\frac{1}{n-2m+2} \sum_{k=m}^{n+1-m} a_{2k} \le \frac{1}{n+1} \sum_{k=1}^{n+1} a_{2k-1}$$

holds, with equality if and only if a is an arithmetic progression.

Proof. We start from the inequality defining a convex sequence

$$2a_{2k} \le a_{2k-1} + a_{2k+1}.$$

Adding from k=m to k=n+1-m one gets

$$2\sum_{k=m}^{n+1-m} a_{2k} \le a_{2m-1} + 2\sum_{k=m+1}^{n+1-m} a_{2k-1} + a_{2(n+1-m)+1}$$

$$= 2\sum_{k=m}^{n-m+2} a_{2k-1} - (a_{2m-1} + a_{2(n-m)+3})$$

$$\le 2\sum_{k=m}^{n-m+2} a_{2k-1} - \frac{2}{n-2m+3} \sum_{k=m}^{n-m+2} a_{2k-1},$$

i.e.

(10)
$$\sum_{k=m}^{n+1-m} a_{2k} \le \frac{n-2m+2}{n-2m+3} \sum_{k=m}^{n-m+2} a_{2k-1}.$$

Here we use the inequality

$$\frac{1}{n-2m+3} \sum_{k=m}^{n-m+2} a_{2k-1} \le \frac{a_{2m-1} + a_{2(n-m)+3}}{2}$$

which follows immediately from Theorem 1. It follows also from Theorem 1 (first inequality (7')) the inequality

(11)
$$\frac{1}{n-2m+3} \sum_{k=m}^{n-m+2} a_{2k-1} \le \frac{1}{n+1} \sum_{k=1}^{n+1} a_{2k-1}.$$

Combining (10) and (11) one gets (9). The statement concerning equality in (9) is clear, taking into consideration the corresponding assertion of Theorem 1. This completes the proof.

Remark 1. Using the substitution $a_i = b_{i+1}$ one gets from (9), with $n \ge 2$ instead of n+1,

$$\frac{1}{n-2m+1} \sum_{k=m}^{n-m} a_{2k+1} \leq \frac{1}{n} \sum_{k=1}^{n} a_{2k} \quad (m \in \mathbb{N}, \ 2m \leq n),$$

and especially, for m=1,

$$\frac{1}{n-1} \sum_{k=1}^{n-1} a_{2k+1} \leq \frac{1}{n} \sum_{k=1}^{n} a_{2k},$$

or, according to Lemma 4,

$$\frac{1}{n-1} \sum_{k=1}^{n-1} a_{2k+1} \le \frac{1}{2n-1} \sum_{k=2}^{2n} a_k \le \frac{1}{n} \sum_{k=1}^{n} a_{2k}.$$

4. As it has been established in [1, pp 205-206, 3.2.27], Nanson's inequality with $a_k = x^{k-1}$ becomes the inequality of J. M. Wilson

$$\frac{1+x^2+x^4+\ldots+x^{2n}}{x+x^3+\ldots+x^{2n-1}} \ge \frac{n+1}{n} \quad (x>0).$$

Using Theorem 2 one can, clearly, obtain a generalization of Wilson's inequality. On the other hand, starting from Corollary 1 one can also deduce the results given in [1, p. 198, 3.2.4] (or in [5, p. 139, 2.3.1.4]), in [3, p. 142, 2.3.1.5] and in [3, p. 144, 2.3.1.6].

The following statement generalizes many results of this kind.

Theorem 3. Let p and q be real numbers and let p>q. 1° If $q>0 \lor (p>0>q \land p+q<0)$, then

(12)
$$\frac{a^{p+q}-1}{a^p-a^q} > \frac{p+q}{p-q} \quad (0 < a \ne 1).$$

 2° If $(p>0>q \land p+q>0) \lor p<0$, then (12) with reverse inequality is valid.

Proof. As the substitutions $a \rightarrow 1/a$ do not change the left side of (12), it suffices to consider this inequality for a > 1. For the function

$$f(a) = a^{p+q} - 1 - \frac{p+q}{p-q}(a^p - a^q)$$
 $(a > 1)$

we have

$$f'(a) = \frac{p+q}{p-q} a^{q-1} ((p-q)a^p - pa^{p-q} + q) \quad (a > 1).$$

If we put

$$g(a) = (p-q)a^{p} - pa^{p-q} + q,$$

then

$$g'(a) = (p-q)pa^{p-q-1}(a^q-1).$$

For p>q>0, we have g'(a)>0 (a>1) and consequently g(a)>g(1)=0. That implies f'(a)>0 (a>1) and further f(a)>f(1)=0, and so (12) holds in this case. If p>0>q and p+q<0, we have g'(a)<0 and consequently g(a)< g(1)=0 (a>1), which implies f'(a)>0 (a>1) and further f(a)>f(1)=0 (a>1), so that (12) holds again. For p>0>q and p+q>0 we have, as in the preceding case, g(a)<0 (a>1), which now implies f'(a)<0(a>1) and hence f(a)< f(1)=0(a>1) and so the reverse inequality of (12) holds. Finally, under the conditions 0>p>q we have g'(a)>0 (a>1) and so g(a)>g(1)=0 (a>1), wherefrom it follows f'(a)<0 (a>1), so that f(a)< (1)=0, i.e. the reverse inequality in (12) holds again. The proof is finished.

Remark 2. Besides the generalizations of Wilson's inequality and other mentioned results, Theorem 3 gives improvement of a result of D. Ž. Djoković [3, pp 162-163, 2.3.2.8] (also see [1, p. 276, 3.6.26]), and also improves the inequality in [1, p. 279, 3.6.31] (or in [3, 2.5.18]).

Corollary 2. The function $h(a) = \frac{x^a - x^{-a}}{a}$, with fixed x > 1, is strictly increasing for a > 0.

First proof. Let us put in Theorem 3: a=x>1, p=u+v, q=u-v with u>v>0. Then we get

$$\frac{x^{2u}-1}{x^{u+v}-x^{u-v}} > \frac{u}{v},$$

$$\frac{x^{u}-x^{-u}}{v} > \frac{x^{v}-x^{-v}}{v} \quad (x>1, \ u>v>0)$$

or

which was to be proved.

Second proof. As we have

(13)
$$h(a) = \frac{x^a - x^{-a}}{a} = 2 \frac{\sinh(a \ln x)}{a} = 2 \frac{\sum_{n=0}^{\infty} \frac{\ln^{2n+1} x}{(2n+1)!} a^{2n}}{a} \quad (a \neq 0, x > 0),$$

the function h with fixed x>1 increases strictly for a>0.

Remark 3. From Corollary 2 immediately follows the mentioned improvement of 3.6.31 in [1, p. 279]. On the other hand, it follows from (13) that, with a fixed x > 1, the function h(a) strictly increases together with |a|. By using this fact and writing preliminarily (12) in the form

$$\frac{x^{\frac{p+q}{2}} - x^{-\frac{p+q}{2}}}{x^{\frac{p-q}{2}} - x^{-\frac{p-q}{2}}} > \frac{p+q}{p-q} \quad (0 < x \neq 1),$$

one can simply prove in another way all assertions of Theorem 3.

Corollary 3. Let x>y>0. Then

(14)
$$\frac{x^{s} - y^{s}}{s_{s} \sqrt{x^{s} y^{s}}} > \frac{x^{r} - y^{r}}{r_{s} \sqrt{x^{r} y^{r}}} > \ln x - \ln y \quad (0 < r < s);$$

(15)
$$\frac{x-y}{\ln x - \ln ny} > \frac{r(x-y)}{x^r - y^r} \sqrt{x^r y^r} > \sqrt{xy} \quad (0 < r < 1);$$

for r=1/2 the inequality (15) reduces to the following result from [4]

$$\frac{x-y}{\ln x - \ln y} > \frac{1}{2} (x^{3/4} y^{1/4} + x^{1/4} y^{3/4}) > \sqrt{xy}.$$

Proof. According to Corollary 2, we have

$$h(\frac{s}{2}) > h(\frac{r}{2}) > \lim_{a \to +0} h(a) = 2 \ln x,$$

wherefrom one deduces (14) using the substitution $x \rightarrow x/y$. (15) is a simple consequence of (14).

Re mark 4. For y=1 and r=1 the second inequality (14) gives a Karamata's inequality [1, p. 272, 3.6.15]; more precisely, this Karamata's result in the form of a strict inequality. One really first obtains, directly, Karamata's inequality for x > 1, and then, by substitution $x \to 1/x$, also for 0 < x < 1.

Remark 5. It follows from (13) that h'(a) > 0 (a > 0). Using this inequality we can easily obtain the inequality 3.6.17 in [1, p. 273]:

$$\frac{x-y}{\ln x - \ln y} < \frac{x+y}{2} \quad (0 < y < x).$$

This result enables us to prolong the sequence (14) of inequalities by

$$\ln x - \ln y > \frac{2}{r} \frac{x^r - y^r}{x^r + y^r} > \frac{2}{s} \frac{x^s - y^s}{x^s + y^s} \quad (0 < y < x, \ 0 < r < s),$$

where the last inequality follows from the fact that the function $\frac{\text{th }t}{t}$ decreases strictly for t > 0.

References

- 1. D. S. Mitrinović (In cooperation with P. M. Vasić). Analytic Inequalities, Berlin-Heidelberg-New York, 1970.
- New York, 1970.
 D. S. Mitrinović, P. S. Bullen, P. M. Vasić. Sredine i sa njima povezane nejednakosti I. Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz., 600, 1977, 1-232.
 D. S. Mitrinović. Nejednakosti. Beograd, 1965.
 A. O. Pittenger. The Symmetric, Logarithmic and Power Means. Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz., 678-715, 1980, 19-23.
 J. Steining. Inequalities Involving Convex Sequences. Elem. der Math., 36, 1981, No 3, 58-64.

Prirodno-matematički fakultet Studentski trg 16, Tehnološki fakultei Ive Lole Ribara 126, Zagreb **JUGOSLAVIA**

Presented 03.02.1988 Submitted to Prof. Kurepa 30. 12. 1982